
Terrasse

Terrasse

Balkon                                                            

Berechnung Anteile

Wohnung 1: 51,00 m² = 117 / 1000

Wohnung 2: 51,01 m² = 117 / 1000

Wohnung 3: 100,28 m² = 230 / 1000

Wohnung 4: 100,29 m² = 230 / 1000

Wohnung 5: 133,88 m² = 306 / 1000

Gesamt: 436,46 m² = / 1000

Summe Wohnung 5: 133,88

WC 2,32

Diele 14,26
7,22

Bad 10,33

9,93Diele

Bad

9,93

Schlafen 17,02
7,48

Wohnung 5
Wohnen 30,59

Küche

100,29

6,08

Schlafen
Ankleide

Kind 1 11,61
11,44

WC

6,08

Ankleide

Kind 2
Bad 6,59

1,81

7,03
100,28

0,5 x 14,05
Summe Wohnung 3:

28,81

11,39

11,61

Wohnung 4
Wohnen / Essen

Kind 1

Diele

Kind 2
6,59

WC 1,81

11,45

Küche 5,59

7,03
Summe Wohnung 4:

11,65Kind 1

0,5 x 14,43

0,5 x 14,05

1000

Abstellraum 2,32

Essen 19,08

Kind 2 11,61

EG - Wohnung 3 Nutzfläche [m²] Wohnfläche [m²]

2


